N = 0 &8 AF S 9 Al A
20209 &= 20l A 2BHSH St FAE S
2H: BEESDY
HM: HY2HAH (BB ESH)

Chel: o2 dy(#AL S ) CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
SIS 27,279,954 22,123,159 5,156,795

2 569,541
Al 347,346
- 26,363,067
HESAALH (P ES W) 7,144,053 6,527,679 616,374
oleEedd|(std 23 1) 7,094,045 6,486,229 607,816
oleASAH|(&#FE S 1) 7,094,045 6,486,229 607,816
101 @121l 7,094,045 6,486,229 607,816
03 I HAsZ22 NHE 7,094,045 6,486,229 607,816
OstHDI&H(84Y) 7,094,045
A=) 2,702,940& x84H x12& 2,724,564
8324 1,566,470& *84H 23| 263,167
S EEECE
26,3403 #*25H #12A1 2t 12 94,824
— o222 8,780& x84H 27 x12& 238,957
— 522 105,350& 84 x90 ! 796,446
— iR asg 140,470& x84 x10L 117,995
— S22 90,000& x84H x12& 90,720
— AL 70,0003 x84 x12& 70,560
- ItEx4 54,720
o < Xt 40,0003 x66H x12& 31,680
MNAHE=HI S 20,0003 x96H x12& 23,040
— NESHIEX =S 35,856
E=S-1am 448,200 *20H *43| 35,856
— 3EZAH| 160,000& x84H x12& 161,280
—JHEXZ 110,000& x84 x12& 110,880
— &S| 1,879,760& x84H x23] 315,800
—-=S=2 75,0003 x84 x12& 75,600
—Six=E 126,000 x84 x 12 127,008
—H2AESE 60,012,300& 84X x3.6% 181,478
— 20432 60,012,300 842 x4 . 5% 226,847
- 1NE2E 60,012,300& *84H x1.5% 75,616
—MHEES 60,012,300 x84 *0.87% 43,857
— &= 159,778,160 & *4H 639,113
— E X2 (S2AHFA
5,007,490 6 x10E x150/ 100 450,675
—Sd8a 5,500& 23| * 10 x252 x 12& 33,000
— &oly| 3,363,000& «3& 10,089
— =& 2A Mol24 Xl
3,000,000& *84H *3% 7,560
—gRA 2A Y AHY =
3,363,000& *20% 673
—LEXE 244l 1,000,000& «12& 12,000




SN BALSY
HM: M 22HAH (BB ES W)
el o2y (#ALE5 D) (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— BrE Gt 30,000 14 x12& 5,040
— M 202 5,140,000& ~12& 61,680
— 229 g Jgs 7Y 30,000 x84H 2,520
—Hsla X 21,840
< ABED| (2L H2 AR
130,000& *84H 13| 10,920
SHELDI(F ERHA L)
130,000& *84H 13| 10,920
— & ADSE 0= 43,680
A= (x5, =s2) 180,000& 84 H 15,120
OFMZED, BA L =HAG (2S5
90,000& «84H 7,560
9o, &3t 70,000 x84 5,880
gt (M1, Btet 2 A, ghab &2k Bhstkgt)
180,000 x84 H 15,120
JI2ZH (#2251 50,008 41,450 8,558
Jl2FH (#EES) 50,008 41,450 8,558
201 gBt24Ay| 28,888 22,910 5,978
01 AP 22| H| 28,888 22,910 5,978
OS89t =H| 12,218,000 x95% 11,608
OJISgR=HE 201 A H| 17,280
— "X 8,000 x22H x53| x12& 10,560
—Xd2 8,000 x5H x143| x12& 6,720
202 044l 16,560 15,120 1,440
01 2L Y| 16,560 15,120 1,440
OJI2gsstt= 20 60,000 *23% x12& 16,560
203 R F & 4,560 3,420 1,140
04 EASHEIRFAH| 4,560 3,420 1,140
OBNM2g9I2=&Y| 400,000 122 x95% 4,560
MWRELD WES HEZA =M 18,355,136 14,789,484 3,565,652
Al 47,830
- 18,307,306
SAFAEXNE HY L HFAESES MY 11,951,758 9,627,237 2,324,521
Al 19,910
- 11,931,848
SAFAXE HH| 181,678 152,598 29,080
201 LBt ]| 5,874 6,874 A 1,000
01 AP 22| H| 5,874 6,874 A 1,000
Ogbt424| 5,874
— SAFAXNY BHAEH 2= MH
3,000,000& 3,000
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SN BALSY
MM JHROID WEE HEZA =4
Sel: BAFANY Yl L HAHE FOH (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OMEMHIIZE =L HHS M "I &
et 1,200,000 1,200
207 S0 | 32,000 10,000 22,000
01 A 32,000 10,000 22,000
OMEMHIIZE =2 s |IAE 84
22,000,000 22,000
OMEMHIEZ =28 HHSH HIt 84
10,000,000& 10,000
307 2Iz2t0| & 5,358,861 4,557,759 801,102
05 QIZ2tREF 2 5,358,861 4 557,759 801,102
OFA A2 (MEMY D)
320,807,908& x12& 3,849,695
OWEHIIES Helbl 27,837,158 x12& 334,046
OHgd X% Ml 60,000,000& x12& 720,000
OXdE & HEHIIS HMalbl
21,924 2323 x12& 263,091
QOMEH IS Xl SHBR(E9ZE,2])
2,000,000& x12& 24,000
Ogzl 2Aas2 L SZ2AMM ™l
8,135,673 x12& 97,629
QUAMX SASH BHS(ZIHMAD S) =H
X 2l 4l 352,000& x200& 70,400
308 MXISHMSOIA 2,070,841 1,593,760 477,081
10 B 2SUHUSHEAEAE AN Y| 1,663,660 1,278,833 384,827
OMEHII S Bt = 138,063, 1602 x12& 1,656,758
OUEHIIZ2 =&KXl 575,120 x12& 6,902
11 J|EIRY =2 407,181 314,927 92,254
OMEHIIsHe =2 359,618,958& x 13| 359,619
Ox=ZZME X 2= 47,562,000 x13| 47,562
MYl SEM =4 380, 185 329,696 50,489
201 2Et24Hy| 12,406 8,842 3,564
01 AP 22| H| 4,360 3,300 1,060
Ogt4=2H| 4,360
—MEHISKe 2 EE2 M
4,000,000 4,000
—Z=ZHEE YHNDIXNA S 72,000 «5I4 360
02 Z2=2=24%4| 8,046 5,542 2,504
OAl&E &8I KX 4| 2,446
—ZSHHEE S FHNE KX 24U
611,500 *43| 2,446
O=ZHNEE 222D IMEgE =
3,200,000& *13] 3,200
OUEHII=E 2tHI S AMEIA KX E 44|
200,000& x12& 2,400




EX: sH3Es

MM JHROID WEE HEZA =4

Sel: BAFANY Yl L HAHE FOH (B9 ®R)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
206 M = Hl 328,988 307,170 21,818
01 X2 H| 328,988 307,170 21,818

OZHMEE M (Lt AEH 22X , 222
ZEH) 85.263 x3,548,0000H 302,503
OQ2X& H2E M 6.45% x3,548, 00004 22,885
OZZNEE =0 (AEIH) HE
600 6,000 3,600
303 ZA 2 12,000 0 12,000
01 ZAZ 12,000 0 12,000
020208 & A #HASMAE T LA
12,000,000 12,000
308 XHXIEH SO0l & 26,791 13,684 13,107
10 2| 2SHUSHEAXERAEASH] 26,791 13,684 13,107
OZHN=SE sSUHEAE 26,791,000 26,791
MY Il REHED| o 73,864 67,321 6,543
Al 19,910
5 53,954
201 et 9| 21,044 12,321 8,723
01 AR 22l ] 10,150 6,111 4,039
Ogtt4f2y| 10,150
— MY I RHE) oS 2 EE2 S
2,000,000& 2,000
— MY I REHED| LHIE HHNIIXA 82
200,000& 200
—22 o M SIIES 242
3,000 x50 A 150
— MY SHEDI 20T HMEH
80,000& 604 4,800
— B3I RESI| B HLL HH
0, 000& 500 & 3,000
02 2224 H| 10,894 6,210 4,684
OZ2Z222 ¥ HMA 10,894
— =0t ANHREES 300,000 124 x12& 3,600
— AQDIE S EH SalE
60,000& *30H ~12& 2,160
— AQIE S RH AQE(QMEX S)
450,000 * 14 X+ 450
— ADIE ShSAIAE SA 24|
4.,684,000& 4,684
301 et M= 1,000 1,000 0
12 JIEtE &= 1,000 1,000 0
OMYIJl RBHED] AlD EZAZ 50,0008 *20H 1,000
401 AlEHIZL 2 0HY| 12,000 54,000 A 42,000




EX: sH3Es
MM JHROID WEE HEZA =4
Sel: BAFANY Yl L HAHE FOH (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 12,000 54,000 A 42,000
OMYD| PHED| 8X 2D20lE &EXI(F0l
20 Ol AF) 2,000,000 *6IH 2 12,000
405 XHA&HF S HI 39,820 0 39,820
Al 19,910
- 19,910
01 XA 2 ZF S| 39,820 0 39,820
O0lsAl 2CtED| 2HAl IHolc A Xl
3,982,000 ~10CH 39,820
Al 19,910
- 19,910
SH0|33 22l 157,938 146,347 11,591
201 gEt24Ay| 137,568 111,387 26,181
01 AFR2 22| H| 111,518 92,447 19,071
Ogbt4=24| 104,218
—SE0Isd FAEE 7€ 93,818
g =2¢ 25,000& x84 x 15 31,500
Z(eimYy, #AYFY)
550 x84 x12Z& &l x12& 6,653
2 (&2 DE R
1,350 x84 x2& ¢ x12& 2,722
22 (e X A2)
7,500 x84 «2& ¢ x 12 15,120
- H0IA3 7003 *84H 4 x12& 2,823
SEAH(E R OEAR
2,000 x84 x15Jl x12& 30,240
Qa2 15,000 x84 H 1,260
T2EAE MM (2E) 8,000 x400¢ 3,200
H=HM 2221 100,000 =3 CH 300
— =X #=2lH| 2,000,000& 2,000
— B A0S ola 249 A2 FH|
50,000 x 140 A« 12 8,400
o4 6,700
— SAHDSRMNE AAEE
100,000& x5H *23| 1,000
— SAHDSIAME AEH HAHE
600,000 *23| 1,200
—SZ0ISIUNE MAALH(HZEHEA)
100,000& x6H *23| 1,200
—S24EHH 2SS A
400,000 *1CH *x23] 800
— 032 nNs A2 300,000 x 1 43| 1,200
— 03 }10= 50,000& *1H *43] 200
— S AHDSRA AMNg2HE =3P Y NS
NES 200,000 *23| 400




PN BALSSH
M JIRGD WEE BECA XN
el SFFAXSE HH L HAES FY (232
SAH-AH -2 (SA) - HREAY - BES 01l Ao %Eﬁ Husz
— 350 HEH (AAHE 2L HAEA)
100,000 *73] 700
O&F0Ise &= 22 M
150,000 43 600
02 229 H 26,050 18,940 7,110
OZ2Z22 % HA 12,240
—SZ0IFY EHA BZ2S(EIIAH)
60,0002 * 1404 A =122 10,080
— A0 REI B2 (EAR2)
60,000 *3CH * 122 2,160
O¢a 4,290
—E20I3Y EHA e
10024 *3Al 2H* 1301 * 100 4,290
OANEHHS 2,800
— &0/3 S
200,000 * 109 A& 2,000
— 2205 BoI2 X2 A R
INISES 500,000 500
— 2205 22| ¥ SX 22l
100, 000 *3CH 300
09 2Hl 6,720
— 203 HLFEHIE 80,0008 +84Y 6,720
ol 2,320 2,660 A 340
2o 2,320 2,660 A 340
OSZ0Ise HAANE(H =) 220
450,000 x2H »23] 1,800
OSZ0Ise HAANE(F =) 20|
130,000 4% »13] 520
PN = 7,500 3,750 3,750
ZAZ 7,500 3,750 3,750
OEXA ZAH(BAE 5) 7,500
— 104 ol & 250,000 x5= 2% 2,500
— 204 0|4t 250,000 x 10= 2 5,000
Ko S 10,550 23,550 A 13,000
At S EF SH| 10,550 23,550 213,000
O=d0l s X 2 650,000 100K 6,500
O%IHAE 300,000 = 10CH 3,000
QW=7 2 350,000 *3H 1,050
2asA &3 97,220 148,564 A51,344
201 LBt A H| 52,220 63,564 A11,344
01 A2 22l bl 7,560 18,400 210,840
Ot 2H| 7,560
—ABE 9 10,0002 *380H A+ 122 4,560
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SN BAESD
M JiRot] HEE HSEA =4
oSl HOI2 23 Y IAS =2 EEREEED)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oo=24d=+¢ 560
—SASF HII= AN HOt 3 F
Mg 70,0002 x8H 13 560
02 2324l 146,096 95,896 50,200
ORFIDZZJIDl S4 MEZ
(3,850 x1820H « 122 )+(3,850& x27LH +7 & ) 9,137
OAl& & Hl s Xl 136,959
—RFIDIIE JHEHEEHEH FX 2=t
17,300& = 182CH » 12& 37,784
—SASFE HIIE2 d@E=HA8I1(120L) M=
et = 5,500& %1,05001 x 173l 98,175
—EM EEY B30 RAES 1,000, 000& 1,000
206 M= Hl 72,714 79,662 N6,948
01 MHZ 4l 72,714 79,662 A6,948
ONZ s 2¢ 20,000,000& 20,000
OYRZEE =HEI 2L 13,214,000 13,214
OSAER HIIE2 ¥82SF MY HIRE
gl Z&h) 20,000, 000& 20,000
OS8AER HII= ERES MH
30& *650,0000H 19,500
301 LEAZ 2,754 0 2,754
12JEEd= 2,754 0 2,754
O3 SAER HIIS 2 AdEIE
3,060& *9000H 2,754
307 glz2tol & 3,556,302 2,595,657 960,645
05 RIZIRI &t 3 3,556,302 2,595,657 960,645
OSAER HIIE &2 Y2
150,426 ,462% =128 1,805,118
OSAER HIIS Ml Hds==2
144,531,929& =128 1,734,384
OGETERNE SASE HII2 Sz ¥ &
= 1,400,000& =128 16,800
308 AHXIEHHSOIA 207,694 193,894 13,800
07 IXNHMAR S = 46,579 36,851 9,728
SASE HIIS Melgte Jtet3g
3,881,527&x12& 46,579
10 B3I/ 2S0HUHSBHEAEALS I 161,115 157,043 4,072
O¥el, 8k SA=F HII= Ml =2
13,426,245% 128 161,115
405 XHobF S HI 27,000 76,000 A 49,000
Al 4,500
- 22,500
01 At ESFH S 27,000 76,000 A 49,000




EX: sH3Es
MM JHROID WEE HEZA =4
oSl HOI2 23 Y IAS =2 (CHe &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
OENZE S o B2 (=0IE 00l &)
6,000,000 «2CH 12,000
OsAlSMY Il E2H =HZ2D|(RFIDREA!N) 2
el 2,500,000 «6CH 15,000
Al 4,500
- 10,500
Me= Hols NS 2,388,428 2,118,748 269,680
Al 23,420
- 2,365,008
201 gBt24y| 90,927 88,087 2,840
Al 20,920
- 70,007
01 AP 22| H| 37,110 34,270 2,840
Ogst=2H| 11,110
- MEsE 22+H 222 A
4,000,000& 4,000
—MMeEsd886HE 23 FH| 3,770,000& 3,770
—MEs 28 849 H& 60,000 254 1,500
—3EF0|® +=HE e &KX WEAY
1,840,000 1,840
Al 920
- 920
OYxz 26,000
—MEaSHEEGHE A2 26,000, 000& 26,000
02 Z2=2=24%4| 13,817 13,817 0
O332=2 % HA 9,297
—MEaSHERGHE 2 A 9,297
HIIGHH A =42 197,000 197
2olAH 2 150,000 »12& 1,800
Halx A 100,000 13| 100
222=2(&J|, ®3l) 600,000& x12& 7,200
OA & &l 8 XYl 4,520
—MEasHd88GIE 23 A4 &EHl R A4
4,520,000& 4,520
03 A2 H| 40,000 40,000 0
OXg=% LsZdyH &9 20,000,000 20,000
Al 10,000
- 10,000
OF0a 200l M=t AMY
20,000,000 20,000
Al 10,000
- 10,000
206 M Hl 2,320 1,890 430
01 X Z Hl 2,320 1,890 430
OHEZE 2clx=HE 2 23,2002 *1007H 2,320
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